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(E+nl& x 10", 5 Z [EE+31% X 10000 EKTY S, )

HEH = (ke/ ) BENE (kg/HF)
#B3E HHE
R (BERRE| ko~ |k~ [ BECCL gug |kt~ mmn| sps | BDE
a—Fk DHEH | DHEH AR A T &5 DBRB=E| K &&t Ha
1 |deiEE 4.8E+1 48.0 48.0
2 |[EHRE 4.8E+1 48.0 48.0
3 |AFE
4 |EHE 1.5E+1 15.0 15.0
5 (AR
6 [ILZE 2.5E+0 25 25
7 |fRBE 3.0E-1 0.3 74E+2 7410 7413
8 |ZWE T4E+2| 23E+2 967.4 1.3E+2| 1.3E+3 1,400.3 2,367.7
9 |HAE 2.2E+2 217.4 3.1E+0| 8.1E+0 11.2 228.6
10 |HBER
1 [BEE 1.0E+2 102.6 1.4E+2 135.1 237.7
12 |FER 3.1E+3 3,055.0 1.9E+4 19,339.9 22,394.9
13 |HREER
14 |[#E)E 6.0E+3 6,021.0 47E+4 46,510.0 52,531.0
15 |FriRE
16 |[EWE 1.3E+2| 5.0E-1 1315 3.2E+2 320.0 4515
17 ||=INE 6.0E+1 60.0 2.3E+1 226 82.6
18 |f&@HE 46E+0| 3.6E+0 8.2 1.0E+2 101.3 109.5
19 |ILBE
20 |RHE
21 |IFRE 6.3E+1 63.0 7.3E+0| 5.6E+2 566.5 629.5
22 |E&mER 2.1E+1 21.0 21.0
23 |BHER 6.1E+1 61.1 6.3E+2 629.8 690.9
24 |ZER 3.8E+2 377.1 3.4E+3 3,372.0 3,749.1
25 |#HER 9.7E+2 967.0 1.3E+2 133.3 1,100.3
26 |REAT 1.2E+2 123.2 1.0E-1| 1.7E+1 17.0 140.2
27 | KBRAF 3.2E+2 322.4 8.0E-1| 7.9E+2 788.6 1,111.0
28 |EER 4.2E+2 420.1 4.7E+ 46.9 467.0
29 |ZRER 4.0E-1 0.4 40E-1| 4.0E-1 038 1.2
30 |FNFLE 9.8E+1 98.0 1.9E+3 1,900.0 1,998.0
31 |BHRE
32 |BRE
33 |EWLE 2.3E+2 234.0 234.0
34 |[LER 9.3E+2| 3.9E+2 1,320.0 1.0E+0 1.0 1,321.0
35 |lLOR
36 |EER
37 |BIIR
38 |BER 1.3E+1| 1.2E+3 1,213.0 5.6E+0 5.6 1,218.6
39 |EER
40 |fEREE
41 [EER
2 |RIBER
43 |RERR
4 | KRR 6.6E+1| 8.0E-1 66.8 3.5E+2 350.0 416.8
45 |FIFER
46 |EEER
47 |[HiER
£ E 1.4E+4] 1.8E+3 15,865.5 1.4E+2| 7.6E+4 76,491.4 92,356.9
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